Name: 6/5 4

Algebra 2
9.1-9.5 Worksheet: Sequences and Series Compilation Date:

Period:

1) Determine the 14t term for the given sequence 6,—12, 24, ...

4, 42"
-1
4, = (6X-4) -7% /52
By = ~49S2
2.) Find the 20'" term of the arithmetic sequence whose first term is 40 and has a common difference of 1.75.
A, = A + (N-—:Yb\
A,, = 4g+ (2c-1 Y/ 7S) i 73.2&"
A = 73.25
3) How many terms are there’in the sequence 2, 6,18, ..., 393667
A -2" /9663 = ~—1
Y = R = ~ot é% 3 r/O ” 72045/
37366 =(2X(3) o= (g, 196€3) + |
- ~ =t 3
4)) For the sequence 12,6, ..., you find the number 0.375. What term is 0.375?
A :A,.Z'“' B LO3I2S - A =y
. ‘/ >~*t %’4) PR
0-335 ‘(IZX 2 i & (/ -0312f>+ \ \ é 7ELM
~NT =t
0-0312% :('é) 7(:1:.)
v~ b
5.) Find the sum of the first 50 positive even integers. ( Y )
2,46,4&.. Sip 2S5O AS,, =2 +(so-1 )2
L A = 2+ (VoX2) 2550
w~; 2 (,q{-r,qﬂ) Ap = loc

Ssa ) %(2 +/00>

6.) Given the sequence 256,192,144, 108, ...
Write an explicit rule for the sequence.

a.) Arithmetic / Neither b.)
Ao @Y 75)

£=<.7%
C.) Find a4 d) Find Szo 20
-1 o 2se(t -3¢ )
:(25a Y. ?s S, °
AI"I ( Y ) 20 (, - ?S')
S Sy ¢ (020. 7527
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7) Given the sequence 137,102, 67,32, ...

a.) / Geometric / Neither b.) Write an explicit rule for the sequgnce.

A = /37 +(~—/X-3f

D= -3% A, = /37 —35~ 137
A 2 =3SN + 172
C.) Find a4 d) Find SZD
-~ £0 ‘ = Y
A« =3s(r)+ 172 S ° 763? +(-‘5?*‘)> A,, = 137 +@o-Ya
A, /37 +(1935)
/9,.,{ = = 3\¢ ‘S;o = lo (-3‘“) A, = ~S2F
S:ia : 39’0
8.) What term i in the following arithmetic sequence? 3,7,11,15, ...
St = 3+ (rm-1 YY) -
so& = (~-1Yn) r/Zoc 72EM ]
23 = A~
~N = 12§

9.) Consider the following Series 16 + 24 + 36 + 54 + -+

a.) Arithmetic Neither b.) What is the common difference / common ratio?

g = /S
7S
c.) What is the explicit rule for the sequence? d.) Find S;g P ( g,,)
A~ =\ /] =1
'4~"'(/("X/'S—) S ¢
(/ “'/og)
e.) ere added together for the series sum to be 1813.28125? 'S’J’ = 47260, 5402
27 ”
e . selioss”) -
1813. 28125 = Le(l°!S ~$6.6650390¢ = /-45"
-1.5
¢ ) ~§3.66523%6 = ~1.5 7
= = ~-25 7 2 A
906. 60625 = 16 (/~+S ) Nt leg STGESDINC -,
10.)  Evaluate each. R
40 13 /
) D.(2k+3) by ».3"
k=1 k=1 l 5|1
l -
- Ho s+ 83 S =
SHO ) '? C ) (k-1 (‘ _3)
Sy * /70 S * 7976+
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